Tender Document

For

LANDSCAPING / PLANTATION WORK ON MEDIAN OF N.H. (PANT NAGAR AIRPORT TO MATKOTA CHOWK) CHAINAGE K.M. 56.750 TO 54.750



March, 2023

Tender fees: Rs. 5900.00 (GST Including) E.M.D.-Rs. 48500.00

District Level Development Authority
1st Floor, Vikas Bhawan Campus, Rudrapur
Udham Singh Nagar, Uttarakhand
www.ddausn.org.in

Important Dates

Last date of Accepting Tender

March 14, 2023, by or before 2:00 PM

Date of opening of Tender

March 14, 2023at 3:00 PM or thereafter



TENDER'S DETAIL

	T 127D C
Name of Work-	LANDSCAPING / PLANTATION WORK ON
Name of Work-	MEDIAN OF N.H. (PANT NAGAR AIRPORT TO
	MATKOTA CHOWK) CHADIA CE WAY 56 750 70
	MATKOTA CHOWK) CHAINAGE K.M. 56.750 TO 54.750
Location of Work-	D
Location of Work-	Pant Nagar- Rudrapur Road
Estimated Cost of Work	D 2446070
Estimated Cost of Work	Rs. 24,16,052.38
EMD	
E.M.D.	Rs. 48500.00
Date of Accepting Tender	14.03.2023 up to 2:00 PM
1 8	1 1.03.2023 up to 2.00 1 W
Date of Opening Tender -	14.03.2023 at 3:00 PM or thereafter
pening render	14.03.2023 at 3:00 PW or thereafter
Validity of Tender-	20.1
validity of Tender-	30 days
Tr: C C	
Time for Completion-	12 Days





Please Fill all Information

CONTRACTOR DETAILS

4	N	
1.	Name of Contractor	
2.	Address	
3.	Tel./Mob. Number	
4.	PAN No.	-
5.	G. S. T. No.	-
6.	Copy of Income Tax return (Last Financial year)	-
7.	Tender Fees Detail in the form of Draft / Cash Receipt	Draft No./Cash Receipt Date
8.	Earnest Money Detail	FDR/NSC No. Date Name of Bank
9.	Affidavit of Rs. 100.00 regarding not been black listed in any Govt. / Private organization.(if attached Please tick)	
10.	Stamp paper of Rs. 100, with 1.00 Rs. Revenue Stamp (if attached Please tick)	
11.	Attached a Certified copy of similar Horticulture work done or ongoing works in any Development Authority of Uttarakhand or government / semi government organization.	

Signature of Contractor

E.E.



GENERAL CONDITIONS

- 1. All work shall be carried out as per PWD specifications.
- 2. GPW form 9 shall be part of the agreement and all conditions shall be binding on the contractor.
- 3. The quantities worked out in estimate are liable to variation for which no claim whatsoever shall be entertained by the department.
- 4. The rate shall be inclusive of cost of all materials, royalty, all T & P, octori, tax, carriage, stacking lead and lift etc.
- 5. While quoting their rates tenderers are advised to take into account fluctuations in market rates. No claim will be entertained on this account during acceptance of the tender and duration of the contract including extended period for completion of work. Rate should include lead of all material, royalty where payable and water arrangements and all local taxes including sales taxes and other taxes as toll etc.
- 6. Tenderer are advised to see site of work and acquaint themselves with locality and availability of labour and position of materials, conditions of contract, drawing and specification before tendering.
- 7. In case of firm, tenders must be signed by each partner or member of the person holding the power of attorney.
- 8. If required the contractor shall provide at his own expenses accommodation for his employees/labours including adequate sanitary and water supply arrangements.
- 9. Contractor should registered their labour in Labour Department, Uttarakhand and 1% Cess should be deducted from each running bill as per Gazette Notification No. 474(2)/VIII/12-35 (Shram)/2011, Dehradun dated 17-05-2012 by Employment Department of Uttarakhand Govt.
- 10. Contractor should submit copy of Income Tax return certificate for last financial year.
- 11. Eligibility- Contractor having similar works experience in the field of Horticulture & Attached a Certified copy of similar work done or ongoing works in any Development Authority of Uttarakhand or government / semi government organization.
- 12. All the materials to be used in work shall full-fill physical and other requirements as per the specifications and shall be approved by the engineer-in-charge. The contractor shall make all arrangements and shall provide such facilities as the engineer-in-charge may require for collecting, preparing, forwarding the required number of samples for tests and for testing of material. Nothing extra shall be paid for the above and including cost of materials to be tested. The testing charges if any shall be borne by the Contractor.
- 13. All materials arranged by the contractor shall be as per P.W.D specification and rejected materials if any will have to be removed by the contractor within three days from the site of the work otherwise these shall be removed from the site of the work by the department itself on contractor's cost. Also a penalty of 200/- per day shall be imposed till the materials are removed from the site by the Contractor.

4

District Level Development Authority, Udham Singh Nagar, Rudrapur



- 14. An order book will be kept at the site of the work in which instruction shall be rendered by Engineer-in-charge or his representative. The contractor or authorized agent will be required to sign the order book daily for acknowledgement of the instruction. It is the responsibility of the contractor to examine the register and if he doesn't it shall be deemed to have been communicated to him.
- 15. The contractor should install at his own cost necessary water pumps, concrete mixer, pug mil machine conveyer and provide necessary vibrates suitable for R.C.C. work and this will be covered by his rates for respective items. In case of certain mechanical T&P etc. is available with the Deptt. The same may be issued at the discretion of Secretary as existing rule/rates of the deptt.
- 16. The contractor will have to intimate in writing to the Eng. I/C his program of laying slab and other important items of work at least 8 days before the commencement of laying so that the Engr. I/C may be able to check his program of supervision of the work. Any such items laid in the absence of Engr. I/C shall be rejected and the contractor will have to do the work again at his own cost. The work of reinforcement shall have to be got examined, by the Engr. I/C before deciding the date of the laying concrete.
- 17. As soon as the tender is accepted the contractor shall have to notify the name of his two authorized representative one of whom will always be available at site of work and the other for issue of materials and other misc. works. The contractor shall be responsible for the materials and order received by these two agents.
- 18. Any claims arising out during the period of contract will be submitted in writing as per the time line defined in GPW form 9 when such claims arise failing which the claims may not be entertained.
- 19. On completion, site of the work will be dressed and cleared all earth and waste materials etc by the contractor.
- 20. The contractor shall give his complete postal address below at the place specified for the purpose. Any changes in his postal address be intimated to authority receiving the tender. In case any communication dispatched to his given address is received back undelivered then in that case contents of the letter shall be binding on the contractor.
- 21. District Level Development Authority (DLDA), Udham Singh Nagar reserves the right to accept/reject any or all tenders without assigning any reason thereof.
- 22. One contractor or firm of the contractors should submit not more than one tender.
- 23. Power is reserved to accept tender for part work only and in such cases time for completion will be reduced to the extent considered reasonable by the accepting authority.
- Contractors are not allowed to make any additions or alterations in tender papers. If any
 one does so the same will not be considered or the tender will be rejected.
- That the DLDA, Udham Singh Nagar on satisfactory completion of the construction work shall make final payment as per M.B. and amount of 5% of the estimated cost will be



District Level Development Authority, Udham Singh Nagar, Rudrapur



deducted subsequently from running bills. The amount of security money shall, if not withheld on account of breach of contract be refunded after six months of the date of completion of the work or after payment of the final bill, whichever is later subject to the condition that in case of building works the first rainy season comprising of months of June, August and September is not fully covered within the period of six months mentioned above. The amount of security money, if not withheld on account of breach of contract, be returned after expiry of the first rainy season comprising of the months mentioned above or after the payment of the final bill whichever is later.

- 26. That in case of any dispute between the DLDA, Udham Singh Nagar and the Contractors as regards construction, arising from the terms and conditions of this deed, the dispute shall be referred to Arbitrator as per the provisions of the Arbitration and Conciliation Act, 1996, AND the Arbitrator shall be the "Commissioner Kumaon Mandal, Nainital" whose decision shall be final and binding on both the parties.
- 27. Performance security shall be applicable as per Latest Government Order and according to Uttarakhand Procurement Rule.
- The Earnest Money for the Tender may be in the form of NSC/FDR which should be 28. pledged in favor of Security, District Level Development Authority Udham Singh Nagar. Tender without E.M.D and without a Non Judicial Stamp Paper of Rs. 100.00 affix one rupees revenue stamp on it and signed by the tenderer for the validity of tender will not be considered.
- Tender has to provide an affidavit on a stamp paper of Rs. 100.00 that he has not been 29. black listed from any Government /Private organization.
- Defects Liability Period 06 (Six) Month from the Completion of Work. 30.

Contractor

1	DISTRICT ISVELD	OF QUANTITY				
LANDS	DISTRICT LEVEL DISCRIPTION WORK ON MEDIAN OF N.H. (PAI	NT NAGAR AIR	AUTHORITY			- V NA E 6 750 TO
	(,)	54.750	PORT TO MA	ATKOTA (CHOWK) CHAINAG	E K.M. 56.750 10
S.NO	ITEMS	DSR CODE	QTY	UNIT	RATE WITH C.I	AMOUNT
1	Preparation of beds for hedging and shrubbery by excavating 60 cm deep and trenching the excavated base to a further depth of 30 cm, refilling the excavated earth after breaking clods and mixing with sludge or manure in the ratio of 8:1 (8 parts of stacked volume of earth after reduction by 20%: one part of stacked volume of sludge or manure after reduction by 8%), flooding with water, filling with earth if necessary, watering and finally fine dressing, leveling etc. including stacking and disposal of materials declared unserviceable and surplus earth by spreading and leveling as directed,		70	Cum	205.695	14398.65
2	within a lead of 50 m, lift up to 1.5 m complete (cost of sludge, manure or extra earth to be paid for separately) Filling mixture of earth and sludge or manure in the desired proportion in trenches, flooding with water and leveling (cost of supplying earth and	2.2	300	Cum	16.85	5055.75
3	sludge or manure and mixing excluded). Trenching in ordinary soil up to a depth of 60 cm including removal and stacking of serviceable materials and then disposing of surplus soil, by spreading and neatly levelling within a lead of 50 m and making up the trenched area to proper levels by filling with earth or earth mixed with sludge or / and manure before and after flooding trench with water (excluding cost of imported earth, sludge or manure).	2.1	390	Cum	72.13	28130.70
<i>a</i> 1	Rough dressing the trenched ground including breaking	2.5	4800	Sqm	1.37	6552.00
	clods.	2.7	4800	Sqm	3.41	16380.00
5	Fine Dressing of the Ground Supplying and stacking sludge at site including royalty	2.3	10	Cum	290.75	2907.45
7	Spreading of sludge, dump manure and/or good earth in required thickness as per direction of officer-in-charge (cost of sludge, dump manure and/ or good earth to be	2.8	10	Cum	48.46	484.58
8	Mixing earth and sludge or manure in the required proportion specified or	2.9	30	Cum	33.71	1011.15
9	Digging holes in ordinary soil and refilling the same with the excavated earth mixed with manure or sludge in the ratio of 2:1 by volume (2 parts of stacked volume of earth after reduction by 20%: 1 part of stacked volume of manure after reduction by 8%) flooding with water, dressing including removal of rubbish and surplus earth, if any, with all leads and lifts (cost of manure, sludge or extra good earth if needed to be paid for separately)	2.14	202	Fach	136.92	2022
9.1	Holes 90 cm dia and 90 cm deep	2.14.2	280	Each		38337.60
9.2	Holes 45 cm dia and 45cm deep TREES, PALM, TOPIARY & OTHER SPECIMEN	2.14.3	10000	Each	17.96	179550.00
10	PLANTS Chorisia speciosa height 3 mtr height healthy plant with good foliage & shape in big poly bag Lagerstroemia indicia of height 3 mtr height healthy	Non DSR	140	Nos.	1350.00	189000.00
1		- 1		I	1	



1						
12	Bougainvillea named variety, Sobhra, Thima, Marry palmar, Cherry Blossom etc. well developed with fresh 8 healthy bushy plant in full bloom 75 to 90 cm ht. plant in 40 cm Cement Pot	10192	1800	Nos.	330.75	595350.00
13	Tabernaemontana coronaria (Chandni single) variegated of height 60-75 cm., 5-6 branches in polybag of size 25 cm	10405	1500	Nos.	57.75	86625.00
14	Ficus panda of height 30-45 cm. with 3-4 branches and healthy foliage in polybag of size 20 cm	10369	3000	Nos.	36.75	110250.00
15	Ficus long Island plant of height 15 cm to 20 cm, full of branches and foliage in 20 cm size of Earthen Pot/Plastic Pot	10491	3000	Nos.	47.25	141750.00
16	Hamelia patens of height 90-105 cm. bushy in big size HDPE bag	10376	850	Nos.	105.00	89250.00
17	Clerodendrum inerme having ht. 25 cm to 30 cm multi branched in 25 cm size of Earthen Pot / Plastic Pot.	10231	2500	Nos.	21.00	52500.00
	GRASSING					
18	Uprooting rank vegetation and weeds by digging the area to a depth of 60 cm, removing all weeds and other growth with roots by forking repeatedly, breaking clods, rough dressing, flooding with water, uprooting fresh growths after 10 to 15 days and then fine dressing for planting new grass, including disposal of all rubbish with all leads and lifts.	2.12	1000.00	Sqm	56.28	56280.00
19	Providing & laying Selection no. 1 grass turf with earth 50mm to 60mm thickness of existing ground prepared with proper level and ramming with required tools wooden and than rolling the surface with light roller make the surface smoothen and light watering the same maintenance for 30 days or more till the grass establish properly, as per direction of officer in charge	2.1	1000.00	Sqm	88.57	88567.50
_	MAINTENANCE					
20	Complete maintenance of the entire Landscape area work done by the contractor including all features having as per yard stick in the garden area i.e. lawn trees, shrubs, edge, flower beds, foliages, creepers etc. including hoeing,weeding pruning replacement of plants, gap filling, watering, mowing of lawn, grass cutting by lawn mover and brush cutter, removal of garden waste, applying insecticide, pesticide & fertilizers(whenever required) top dressing of lawn with good earth and menure and maintenance of other garden related works as directed by office-in-charge (Cost of Good Earth, Manure, Fertilizer, Insecticide, Pesticide, lawn mover and brush cutter with fuel & other T & P material/ articles for Maintenance shall be provided by the Contractor)02 km. for 3 Months @ 65000/- per Months		One Job		65000.00	390000.00
	MANURE					
21	Supply and Mixing Vermicompost in Lawn area @ 5 Kg / Sqm	Mkt Rate	5000.00	Kg	10.00	50000.00
	WATER TANKER					

NOS. | 35 nn |



22	Providing and wartering of irrigation water through water tanker of Horticulture features i.e. lawn, tree, shrubs, hedge/edge, ground cover etc. at the site of work. Water tanker having 5000 lit. capacity with one labour for watering i/c cost of water, filling of tanker, wartering at site with all leads and lifts as per direction of officer-in-charge.	2.53	100.00	Nos.	846.72	84672.00
I/We					Sub Total	2416052.38
above				hereb	offer to execute	the
work	On			•••••		
Figure)on				%(ir	n
quaint	ity.	% (in word) above/b	elow the	rates printed on t	the above bill of

Contractor Signaure

Dorm.